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Precalculus 

1-02 Graphs 

Basic graphing method 

• Make a _____________________ 

• Choose _____________________, Calculate _____________________ 

Graph 𝑦 = 3 − 0.5𝑥  

 

Intercepts 

• Point where a graph _____________________the axes 

• To find the intercepts 

o x-intercept 

▪ Let _____________________ and solve for x 

o y-intercept 

▪ Let _____________________ and solve for y  

 

 

 

Find the intercepts of 𝑦 = 2𝑥2 + 2 
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Circles 

• ሺ𝑥 − ℎሻ2 + ሺ𝑦 − 𝑘ሻ2 = 𝑟2  

o where _____________________ is the center 

o _____________________is the radius 

Graph ሺ𝑥 + 2ሻ2 + ሺ𝑦 − 1ሻ2 = 4  

 

 


